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	Year 2 Learning Booklet


I can choose and use appropriate standard units to estimate and measure length/height in any direction (m/cm); mass (kg/g); temperature (°C); capacity (litres/ml) to the nearest appropriate unit, using rulers, scales, thermometers and measuring vessel
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I can find different combinations of coins that equal the same amounts of money
______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
I can recognise and use symbols for pounds (£) and pence (p); combine amounts to make a particular value
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Match the amounts.
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Complete the part whole models.
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Make 50p three ways using the coins
below.

You can use the coins more than once.
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Mo has the following coins.

He thinks he has 51p.

Explain his mistake.
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Use the money to fill the purses.
You can only use each coin or note once.

Cross them out once you have used them.

£10and 15p £5and 51p
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How much money is there altogether?

f=s 498

Thereis €__and ___p.
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Complete the missing boxes
+ E10+E5+50p=E__and__p

+ £20+82+10p+10p+2p=

and__p

+ £5+€  +50p+20p+20p+Tp=E0and__p
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Mollie took the temperature at 12 pm
and again at 5 pm
There was a difference of 7°C

What could the temperatures be?
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Show on the measuring jug where the liquid would go to from
each container.

capacity is ___ m capacity is __ ml

The container's
capacityis ___ml

The container's ‘ ‘ The container's
!
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Complete the thermometers to show the temperatures.
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Zac has used the ruler to measure the
length of the car.

Zac says the car is 6 centimetres long.
Do you agree?
Explain your answer.




